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QUESTION NO: 1

In an active-active disaster recovery solutionconfigured with inter-site FC switch connection. When the distance between
sites exceeds km, you need to configure long-distance transmission.

A. 1KM

B. 10KM
C. 25KM
D. 50KM

ANSWER: B

QUESTION NO: 2

Under the condition of synchronous replication, the peak write bandwidth of an application is 16 MB / s, the average write
bandwidth is 500 KB / s, and the average write IO is 8 KB. If the bandwidth utilization rate is 80%, then the disaster recovery
end network bandwidth should not be less than:

A.180Mb /s
B.55Mb/s
C.225Mb/s
D.55Mb/s

ANSWER: A

QUESTION NO: 3

Which statements are true about Huawei OceanStor V3 HyperMirror feature? (Multiple Choice)

A. Create a mirror LUN for a common LUN. Due to internal information exchange, the LUN ID for hosts’ read and write 1/0Os
changes based on the information exchange result.

B. A LUN stores 2 GB of data. Create a mirror LUN for this LUN. During the creation, the system automatically generates a
copy. The total data amount of the copy and mirror LUN is 4 GB.

C. HyperMirror can be configured for external LUNs, and external LUNs can be configured as HyperMirror copies.
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D. When configuring HyperMirror, its copies must come from different disk domains.

ANSWER:BCD

QUESTION NO: 4

DAYV (Distributed Authoring and Versioning) can solve issues that the HTTP protocol can not such as? (multiple choice)
A. Rewrite the protection

B. Resource Management

C. Document Properties

D. document encryption

ANSWER: ABC

QUESTION NO: 5

When using lvm to create a mirrored logical volume, you should choose what kind of log file to save inorder not to impact
performance and quickly recover from a single drive failure?

A. store the log in memory
B. Store the log in any one of the two PVs
C. Store the log in the third PV of the current VG

D. Save the log in another VG pv

ANSWER: C

QUESTION NO: 6
Which of the following scenarios will cause the OceanStor 18000 to start local reconfiguration? (multiple selection)

A. hard drive failure
B. The system detected that CK could not be repaired

C. Insert the drive within two minutes after being unplugged
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D. 10 access returns SECTOR FAULT error

ANSWER: B C

QUESTION NO: 7

Which of the OceanStor V3 file system remote replication descriptions are correct? (Multiple choice.)
A. Itis an object-based approach to data replication

B. ROW snapshots are based on the cyclical manner ofdata replication

C. It can be manually set off by the user or system timing synchronization starting

D. It supports the Quota quota information of the main file system to the slave, no need to configure the quota.

ANSWER: B C

QUESTION NO: 8

Huawei two nodes Standard Edition N8500, opened the CIFS service. Which of the following CIFS
parameters prevents users from seeing other users in the table of Contents?

A. oplock

B. noguest

C. fs-mode

D. hide-unreadable

ANSWER: D

QUESTION NO: 9

A customer wants to deploy one OceanStor v3 storage to meet their capacity and performance requirements.
Which of the following should beconsidered regarding the hard drive configuration? (Multiple choice.)

A. Hard drive capacity

B. Metadata space size
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C. Hard drive type
D. RAID type

ANSWER: ACD

QUESTION NO: 10

An application's peak write throughput is 10 MB/s, average write throughput is 280 KB/s, average write 1/0O size is 4 KB, and
the network bandwidth utilization rate is 70%. If OceanStor V3 storage systems are used to implement data disaster
recovery based on asynchronousreplication, Synchronization Method is set to Timed wait when synchronization begins, and
the value of Interval is 4 hours, the expected duration to synchronize data is no more than 1 hour. So the minimum network
throughput should be ().

A. 1600 KB/s

B. 400 KB/s,

C. 15 MB/s

D. 10 MB/s

ANSWER: A

QUESTION NO: 11

A Simpana backup media pool configuration principle is:

A. According to the differentretention time to divide the media pool

B. As many media pools as possible to improve performance and utilization
C. According to the purpose of the disk to partition the media pool

D. According to the number of storage strategies or use to divide

ANSWER: A

QUESTION NO: 12

Which of the following statements about Huawei OceanStor V3 series storage array synchronous remote replication and
asynchronous remote replication is incorrect? (Multiple choice)
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A. Synchronous remote replication and asynchronous remote replication should use the progress of the
bitmap

B. Synchronous Remote Replication To use differential logging, asynchronous remote replication uses differential bitmaps
C. Synchronous remote replication and asynchronous remote replication are used snapshots

D. Troubleshoot a replication task in a remote replication consistency group Do not affect tasks in other groups

ANSWER: ACD

QUESTION NO: 13

The client environment is the HP-UX11i v2 operating system, the HBAis the AD193A, and the operating system comes with
the driver. The storage array is Huawei OceanStor V3. When the LUN mapping between HP-UX and the storage system is
completed, you can not change the topology mode of the FC host interface card on the storage system.

A. True

B. False

ANSWER: A

QUESTION NO: 14

Engineers in strictaccordance with the Oceanstor 9000 software installation and operation guide are to complete the pre-
inspection and configuration, the software deployment process displayed ome exceptions, the following treatment is
appropriate (multiple choice)

A. For the "configuration operating system failed" error, check the node / var / log partition and clean up the partition,
initialize the system, and then re-run the software deploy

B. If it is not a failure, restart the deployment after reinstalling the deploy deployment package

C. After the deployment fails, run the sh /opt/huawei/deploy/script/clean.sh command on each node to initialize the system
and restart the software department

D. After deployment abnormalities, reboot all nodes, reinstall oceanstor tookit,and start the software deployment

ANSWER: AC

QUESTION NO: 15
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Which of the following is correct about the Huawei storage Oceanstor V3 storage system?
A. One Ethernet port can be used to create multiple logical ports
B. If you type Ethernet ports A and B into VLAN 2, by default the port Aand B data are in the same drift group

C. If binding port A and physical port B are added to the same VLAN, as long as one physical port in bonded port A fails, the
service switches to Physical Port B

D. When IP Fallback mode is set to Manual, when the port fails to recover, the active port link is in normal status and lasts
longer than 1 minute, the system can switch the service to the primary port

ANSWER: C
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